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MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Science Group)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C | D. Each part carries one mark.

. 27
(i) Product of [x y]{_J is:

A [2x+ ] B. [x-2y] C. [2x-y] D. [x+2y]
(i) Every real number is:
A A positive number B. A negative number
C. A complex number D. A rational number
. . -2
(iii) Find x if log,, x=~3—
1 1 i
A 32 B. — C. — D. —
16 8 4
(iv) The relation y =log, x implies:
A x' =z B. 22 =x C. x'=y D. Vi=x
22
(V) is equal to:
a+b
A (a—b)’ B. (a+by C. (a-b) D. (a+b)
(vi) What will be added to complete the square of 9a° —12ab:
A ~166° B. 165 C. 4b* D. —4b°
(vi)  Factors of 3x* —x—2:
A (x+D3x-2) B. (x+DGBx+2)
C. (x—D(Bx-2) D. (x—=D(G3x+2)
(vii)  The square root of a* —2a+1is:
A ta+1) B. a-1) C. a-1 D. a+l1
(ix) L.C.Mof a* +b*and a* —b'is:
A a* +b? B. at -b* C. a' -b* D. a-b
{x) P(2,-3)lies in quadrant:
A 1 B. I C. i D. Ii4
(xi) Distance between the points (1,0) and (0,1):
A 0 B. 1 C. NG D. 2
(xii) The right bisectors of the three sides of a triangle are:
A Congruent B. Collinear C. Concurrent D. Parallel
(xii)  The diagonals of a parallelogram each other.
A Bisect B. Trisect
C. Bisect at right angle D. Quadrisect
(xiv)  x=0 is a solution of the inequality:
A x>0 B. 3x+5<0 C. x+2<0 D. x—-2<0
{xv) If y=2x+1, x=2theny is equal to:
A 2 B. 3 C. 4 D. 5
For Examiner’s use only:
Total Marks: 15
Marks Obtalned:
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MATHEMATICS SSC- |5
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly. Logbook will be provided on demand.

SECTION — B (Marks 36)
(12x3=36)

Q.2 Attempt any TWELVE parts. All parts carry equal marks.

1 2 .
(i) If A= [0 J , then verify that A4+ A'is symmetric.
N 1
3 2
i) Simplify: @Mjg-s—)—
(.04)?

2

; 1+i
(iii) Simplify and write your answer ina +ib form (I——w)
~1

(iv) Calculate log, 2x log, 81

7214 0.3
(v)  Use log table to find the value of 3 (0.721 8)0><8(2 7)
- 1
(viy  Ifx *\‘[5—‘—\@ _find the value of x +
\/g * \[2_ x
2x° x 1
vii SIMDIify: e e e —— e
v Py x*-16 x*-4 x+2
(vi)  If a® +b* +¢” =45and a+b+c=-1then find the vaiue of ab + bc +ca
(ix) Factorize x* - y* —4x-2y+3
Y The polynomial x° +/x? + mx + 24 has a factor (x+4)and it leaves a remainder of 36 when divided

by (x--2). Find the values of Jand m:
xt —8x 2x-1 x+3

xi Simpli X — ®
>0 plty 23 +5x-3 x 42x+4 xT-2x
2 2

(xii) Use factorization to find the square root ol 4 4 Y

16 12 36

. . 3x-—-2y=--6
(xii)  Solve by using the matrix inverse method
5x-2y=-10

(xiv)  Find H.C.F by using division method  3* +3y* -3y -9, »’ +3)° —8y-24

(xv) Solve x+7+/x+2=/6x+13
(xvi)  Solve |x+2{-3=5-|x+2)
{(xvil)  Find the midpoint of line segment having points A(-8,1) B(6,1)

(xviii)  Solve the inequality 3= Zé-x— 21

SECTION - C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)
Q.3  Show that the diagonals of the parallelogram having vertices A(1,2) , B(4,2) , C(-1,-3)and D{-4,-3) bisect
each other.
Q.4 If two triangles are similar, then the measures of their corresponding sides are proportional.
Q.5 From a point, outside a line, the perpendicular is the shortest distance from the point to the line.
Q.6 Inany corresponding of two friangles, if one side and any two angles of one triangle are congruent to the

corresponding side and angles of the other then the triangles are congruent.

Q.7  Construct a triangle PQR of mPQ = 4.5cm , mQR =3 9cmand m£R =45". Draw the altitudes and show
that they are concurrent.
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(Science Group)
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